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ECONOMICS
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( Introductory Macroeconomics )
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Full Marks : 80

Time : 3 hours

~ The figures in the margin indicate full marks
Jor the questions

1. Answer any ten from the following questions :
1x10=10

od 2R [ I wRoe Teq fi

(a) Who was the first economist to have
coined the term ‘macroeconomics’?

SR WA’ {RAET e SRR
e e 2

(bp) What is meant by depreciation cost?

PRSI 390 e fF 3o w2
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(2) (3)

demand-pull

(c) Dil:‘»itinguish between intermediate goods (k) Distinguish between
and final goods. inflation and cost-push inflation.
%wmﬁwm"mﬁ”’mmf@fﬁﬁ S se TR S TS JErHed

| ‘ ,
TS o1 e 30

d} Giv

(DR vEfoneicxamplefoffittansicripayment. () Which country is facing ‘hyperinflation’
W@ ARCNEE 91 Trra faa | recently?

(e) Define gross domestic product. mn%[_‘%@ o T GRIEES W

TR (=R ?
5 ) Seseea el i | 1
. . m) Mention Say’s law of market.
()  What is velocity of circulation of money? : e
3 6’3 I8H sEE
@ eoe e 2
essential  condition of

(n) State one
Keynesian income determination.

(g9 What is money supply?
B R G A i AL NGk

TR QT 2
(h) How does credit creation affect money i
supply?
= % (o) In which case is LM curve horizontal?
R 1Y RO A5 R oFas LM (IO SFg e 262

oIy 2

2. Answer any five from the following

() What is liquidity preference?
ORe % 32 questions : 2x5=10
b Detine ¢ o 2P R Gl Aor T i :
tool of open market operations’ as a o
monetary policy. (a) Distinguish between real GDP and
T AR w1fem - nominal GDP.
fra | Ny R W@w%&ww:{m:{bw
Teoed Foro A1 e 0
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(b)

()

(@

(4)

Mention two types of transactions that
are included in the current account of
balance of payment.

ARCMR o[ vt fpre wBse @@ 7Ry
MR AR SCEY [ |

What do price indices show?

w4 P [ a2

Distinguish between net domestic
product and net national product.

WA T TRATH W 67 A5 SR 5
A2 [efg 547 |

(e) Write any two functions of money.
TR & e 161 IR s |

() What is speculative demand for money?
TR FEAIO Sfeam 92

(g) Define inflationary gap.
Tarfied ¥R Fgwl faq |

(h) What is money multiplier formula?
T B @] 52
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3. Answer any four from the following

questions :
©F IR | e SRR Tee i
fa) Distinguish  between balance  of

(b)

()

(d)

(e)

22A/1097

payment and balance of trade with
example.

SRR RS ARCTR Al W q1ierq
o[ e AL [T 741 |

Distinguish between current and capital
accounts of balance of payments.

IR o sfere Bp o fEeR Roem
o <123y g 1

How would you measure gross national
expenditure? State the limitations of
this method.

T B I QA P T A @3
Tafoq Ruaer2 ey 4 |

Discuss the modern approach to money
supply.

TR AR CFAS Y GRETH! ST
eIl

" Explain the three motives for demand

for money according to Keynes.

@R oo JwR oifvR fofHr wfsam amm
39 |
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(6) ()
() What is liquidity trap? Explain its (c) Explain the process of circular flow of
significance on monetary policy. income. In what ways do international
transactions affect this flow within a
o ¥ 1 7 3@ oS W &FI I ! closed economy? 7+3=10

OEE SoE o{Rd AfEel WRN 1 Fa

(g) Explain the causes for the shift of the IS
e HEEfeT SMH-AT 9R ZRRS

and LM curves.

@R ASRIRS 3 ?
IS S® LM @1 7O TARRS (FEH FRTHR
EnEiISSIN (d) Critically explain the cash transaction
approach to the quantity theo of
(h) What is fiscal multiplier? What factors : rrI:oI:ley. : & 2
affect fiscal multiplier?
wR e R Aw R S
R BT 7 JECARE BT AORITS AT T <7 |
79 SR 2 4 2

(e) Compare and contrast between cash
transaction and cash balance approach
to the quantity theory of money. Which
one is superior? Give reasons. 7+3=10

‘{Eﬁ"fﬁmﬂwﬁﬁrﬁﬁ%‘,mqﬂ? - O
oW ST 4R P 91 S ~efe fefn 20

4. Answer any four from the following
questions : 10x4=40

T4 2PCaAd R @ BifReR Tew fr

(a) Explain the various basic issues studied

in macroeconomics. R @ 1 ? 3 |

TR WeRfoe SET I Y5 [EDTR I

i i () Explain the various tools of monetary
policy. Which one is appropriate to the

() Discuss the process of T lincome developing countries? Give reasons. 8+2=10

accounting in an open economy. Pl MNeq Rfew Wﬁ‘{i T 91| IO
6 SRS AT ST A 2R WA W TN (PR PR TS P
qCET |
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(8)

(g) Define inflation. Explain social costs of

inflation. 3+7=10
rdfes s fm mrdis e
O, I |

(h) Evaluate the Keynesian model of income
determination.

I O R S o= 41 |

(i Compare the classical and Keynesian
models of income determination and
point out the fundamental differences
between the two.

ﬂ@f%wﬁawﬁﬁawwﬁaw

P A GEEGE e (S 1L
Sgfermia fra |

() Derive IS and LM curves. Explain their
properties. 6+4=10

IS S LM G341 7ol =3 1 | 2309 5797
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